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Am:. To0 fincd the wiclkh of #he wice using chiFrachon mm_ubhmmf.djwm_ﬂf_“_
Ne laser .

Appaceiug

Ophca) Bench, an upnght holding wire, samples of 3 clifferent wires , o
mehe scale , an He-Ne |agcer:

alllabexperiments.com

Theony:

when a motochroenah ¢ hght diEcrach amund c fine wire Lxup{ngﬁ,dwgéﬁéf_

(2 Lofey a diffrachon padern 1S ohsercd ak he gcreen placod on Hhe other |

sicle of the wire: The paberp concibs ot dark and bright tnnges - The

conhral h«nghF Ilrmg,q 1S veny I0kENSe and SUCCes=ve bi_.,_gb'[ Fringes are
less intepse: Thece enngés areot equal mdih QAnd fihe Frtrlg;z widbh )5

QVTNDY B=DX 5 d= DA

i R

where d= fhickness ot the wire

D= dieranca berween Screen ] e

A= wnwt'e‘ngHﬁ ot the He-Ne \a=er oY SOUrTe -

A5 rhe Hhickness d of Hhe wire Increases , Bae wickn of the f‘rir‘\q}.»zs: decrcased
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 ORSERVATIONS

AT e e R e el """"""“Jﬁ"‘ﬁf‘ R
\ 355 0 535 0144 x 10 | g4 x g
5 1362 A O0BE %10 | 00BFx T
3. \2) 0'ABIRS o 1Bx1e’ | grano
4 1434 0 BS6AS oleegxo | OFfaxis’
| ]
corelw Gauge caloulatons o=k counk =0 00S mm

Q@) MSR:=Q ,CSR=3%

; Ry~
Reachng 1= a8 x0'005 = odmim Rai=old4Smm, 9 \¢ mm

Meah reading = (014 + 0448 vo 1) 3 = 0141667 = 0 (4 ram

) MSR=0 K6 cSR= A *
Reading 1= &'; ¥ D 005 = oWSm , Rz 0085 mm, Ry= 0 :09mm
Meg N '-’i&q_clmg ={0QYB+00d5 +009) (2 = O-0F66F = O OBFromM
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©) MSR-Q , CbR = 40
Readhng 1= 40 X008 =o.&a mm , Ry =0 Amm ,Rz=02mm™
Mean Reading= (O3+0-2+02D/3 = g-2amm

&) Mo MSRzQ ,CSR =

. Q@
R!Eﬂdincj '

Py

"310005‘“: 0 gamm,R2L = 0a9mm, R3=609Smm
[

Mean Reading = (00AY0C GA+004%) /2 = 0 @1 663

0
= o@&Y92 morn
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Caleulions:
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I ’ o o=

aF=3Arm=) B a3 :05%S e .

4
L tr""__+ 35:5 .
d= 2Dy = 633P ¥io_ x BEPEm = O 14% pamn
B, 0SS i

Dy= (3G Acm, A= EIADEBXIG ' Ch

431: el 0 U | B'-_.{__: A

d= 2ADs. = 632 8] 1!(3--_4 X IXE A = O:-BRE D
B 4

alllabexperiments.com

Da = iSlcm , 3= €32 -84 5 T e

2B = VNSermp = By = A5 = 698135

4
d= D18

Dg=143-9cpn A= 62" Tem

4Pg =3 335 ¢rn =1 Ry = 0 ASEIS e L

d= 2Ng - 6238 316 'crp x 193 49crn = 6 @& 16Gmm
"h-_________.—__-___'_

Ga 6 BECIS




P cavhons and Sources ot EqOr

La=er beam. should be horizontal X not klred

\aser beam shauld ok ke tdlked Upen circcHy wirh Hhe naked eye

2| once asharp diffrachon padern = achieved ,He ek up shauld nokbe deshirbed |
.| Tre=creon should be kepl coxmal ko Hhe incident keara:

=t -

Res(\F: o alllabexperiments.com

Tre maeasured and achicl! clicicneren ot ine wire are NeQrly equaql




